

Find all functions $f : (0, \infty) \rightarrow (0, \infty)$ such that

$$\frac{(f(w))^2 + (f(x))^2}{f(y^2) + f(z^2)} = \frac{w^2 + x^2}{y^2 + z^2}$$

for all positive real numbers w, x, y, z , satisfying $wx = yz$.

$$\frac{2f(1)^2}{2+1^2} = 1$$

$$f(1)^2 = f(1)$$

$$\therefore f(1) = 1$$

$$\frac{f(2)^2 + 1}{f(2^2) + 1} = 1$$

$$f(2)^2 = f(2^2)$$

$$\frac{f(n)^2 + 1}{f(n^2) + 1} = 1$$

$$\therefore f(n)^2 = f(n^2)$$

$$f(x) = x, f(x) = \frac{1}{x}$$

$$\frac{f(4)^2 + 1}{2 + f(4)} = \frac{17}{8}$$

$$3f(4) = 8f(4)^2 + 8$$

$$f(4)^2 - (1/3)f(4) + 8/3 = 0$$

$$(f(4) - 1)(f(4) - 8) = 0$$

$$\therefore f(4) = \frac{1}{4}, 8$$

New Approach

$$(w, x, y, z)$$

$$(\sqrt{x}, \sqrt{x}, 1, x)$$

①

$$\frac{f(x) + f(x)}{1 + f(x)^2} = \frac{x + x}{1 + x^2}$$

$$2x + 2x + (x)^2 = 2 + (x) + 2x^2 + f(x)$$

$$2xf(x)^2 - 2(1 + x^2) + (x) + 2x = 0$$

$$(f(x) - x)(x + f(x) - 1) = 0$$

$$\therefore f(x) = x \text{ or } f(x) = \frac{1}{x}$$

FTSOL, let $f(a) = a$ and $f(b) = \frac{1}{b}$ for some $a, b \neq 1$.

$$(\sqrt{a}, \sqrt{b}, 1, \sqrt{ab})$$

②

$$\frac{f(a) + f(b)}{1 + f(\sqrt{ab})} = \frac{a + b}{1 + ab}$$

$$\frac{\frac{1}{a} + \frac{1}{b}}{1 + f(\sqrt{ab})} = \frac{a + b}{1 + ab}$$

$$\therefore 1 + f(\sqrt{ab}) = ab$$

$$\rightarrow f(x) = x \text{ or } f(x) = \frac{1}{x}$$

$$\frac{1}{a+b} = a+b$$

$$\therefore a=1 \quad \times$$

$$\therefore \text{If } f(ab) = \frac{1}{ab}$$

$$\frac{\frac{1}{a+b}}{1 + \frac{1}{ab}} = \frac{a+b}{1+ab}$$

$$b+a^2b = a+b$$

$$ab=1 \quad \times$$

$$\therefore f(x) \text{ or } f(x) = \frac{1}{x}$$

D